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" Match the Industrial Regions and Tndustrial Areas :

a.- Nashik . S V'I. Butibori
b. Kolhapur _ II. 'Shendra
c.  NEIAN ) | I Vinchur
d. Aur;‘mgabad V. Hupari :
Answer Options:

a b e c d
1V Iv. I I I
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The salient features of Aurangabad Industrial City :
a. Well-planned and greenfield smart city. =
_b.  The abbreviation is AURIC.
_¢.  The total investment will be ¥ 1,000 crs.
d. Itis a part of Delhi-Mumbai 1ndustr1al corrldor
Choose the correct option :

Answer Options : . R |
(1) Onlya .- -(2)  Onlya and_b
(3) Onlya,bandc s (4) Only a, b and d .

4, mlgslazonmwa%ﬁawma@wmaﬁmwawaﬁvﬁﬁm

( ' :
- India’s population growth and temporal changes during 1981 to 2011 indicates the :

population transition stage of /

_(1)  Period of High growth Wlth dechmng trend -
(2) 'Period.of Rapid growth [ ‘ ‘
(3) Period of Steady growth ‘ g
(4) Period of Stagnant growth

5. IRAW TEn W WIGHH, 2017@%@%1mmmaﬁn@m

U TsT 318 ?
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®) wean | 4) SWRw

Which State of India accounted for the second rank i

per report of Basic Road Statist;
(1) Maharashtrg S OfIndlaE;)Ol';t;ja th
sthan

__(3) Madhya Pradesh,
(4) Uttar P
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Which one of the following regions indicates. the examp]e of high intensity zone of
earthquake in India ?

(1) The Zone of Peqmsula
Himalasran Belt from Kashmir to Assam
(3) Central Zone | -
: (4) Ganga Plain

7. 2011wwmﬁw‘ﬁngmgﬁﬁawmwnmﬁﬁvﬁ/aﬁvmam/g@an%/m?
L a ot T 45:23 IR, »
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| As per 2011 Census w
The percentage of urban population is 45° 23.

hich sentences is/are false for_urbamgatlpn in .Maharashtra ?

‘a.

b. Maharashtra stands third in urban population. .
c. Urban populatlon of Maharashtra is 5,08,27,500. -

d. The lowest urbanization level is in the Nandurbar district of Maharasht?‘a

‘ Aﬁswer Options:

(1) Onlyaandb

(2) Onlyc

(3) Onlyaandc

(4) Onlyd L e |
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o istricts 1 Maharashtfa :
Match the correct pairs of Irngatmn Schemes and DlStrlc?S n -

Iirigation Scheme -

District
a. Satara L Mukane
b. Nashik - IL Vishnupuri
c. Nanded ~ III. Kanher y
- d. Yavatmalﬂ. .. Bem_bala .
_ Answer Options : B
Y g b c d
@ I m v W
¢ m 1 . I e
(3) - III I\% I I

@ v o I T
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1) W - o (2)  feure ey
() T ‘ | f@?\ |
AW
The State which produces natural gas and mmeral il § - ’
o Kerala | oil in Ind1a is
o () Himachg] Pradesh
: (4)  Assa ’
T NI} ST | SPACE FOR ROUGH _
—/

Scanned with CamScanner



www.bviusexamprep.com

U Bt

7
10 memmmmmm@m? o
=) Tl v, quf, e
(2) =T, vl wew, mvﬁ%m\
~3 SR, i, s, g
(4) woRT, Wa@, Fui, m;rw%m?h
Which of the following options shows the correct ascending order by length of the
tributaries of Godavari river ?
(1) Pranhita, Pravara, Wardha, Manjra
(2) Manjra, Wardha, Pravara, Pranhita
(3) Prénhita, Wardha, Pravara, Manjra
4) Manjra Pravara, Wardha, Pranhita
11, Wﬁﬁ?ﬂﬂtwﬂm mwwmmmmmm 1938
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On the basis of soil formétioxi, thé ﬁrst detailed and scientific soil classification of
Maharashtra was done in 1938 by : '
(1) Dr.D.Smith (2) Dr. Kellogg and Dr. Thorp
(3) Dr. Dokuchaev (4) Dr. Basu and Dr. Shlrur
12. R B TR R WW@W@WWW ;

. .

(2) T'G"‘,iﬁ, aUTRIE SfYT heselt wrel |
(3) W,Wmﬁré@a@@ﬁ ,'

(4) <gmg EE SN qifder @rdt X
Whlch creeks are 1ncluded in the ‘Central Konkan’ of Maharashtra’s Konkan

Regional Division ?

(1) . Deogarh, Achara and Karh creeks

(2) Rajapuri, Bankot and Kelshi creeks

(3) Dharamtar, Kalawal and Terekhol creeks

(4) Dahanu, Vasa'i and Datiware creeks
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The Laccadive islands and Minicoy islands are separated by

(1) Eight Degree Channel (2) Nine Degree Channel

(3) Ten Degree Channel (4) Zero Degree Channel‘ '

14 A Bl e eamw afwogeR, fem Remegee A T
e o S R

(1) qaf?ﬁwmﬁ%am
@ MMWW
(3) mmﬁa&ﬁamm(w)m

@ -:xchw -qsﬁa%ﬁa s relic _
As per G.T. Trewartha’s chmate ‘classification, Western Coastal Plain and Tripura

S_tate exhibit which of the followmg types of climate ?-
- (i) Humid Mountain Qh_mate v
/,(2)—0-’I‘ropical' Arid Climate
'—eaﬁ-g-mpical Monsoon Climate |

(4) - Humid Sub- troplcal Climate L SRR,
HERTSGT e st I firagurr=at mam?ﬁ za%mﬁ CIRINEET] ﬁ»—cﬁ AR ?
(1) 58% ' : | - (2) 65%

\/e{) - 85% . (4) 95% |

~ Which of the followmg percentage indicate |
s the Pr0port10n of
Maharashtra from North- Wes tern ritisadn ? rain received in

15.

1> ) ’ :
% 58(7 B ‘ (2) 65%

(3) 85% ST @) 959
2 5 . ’ s (2}
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(1) faawyql fram
(2) TTES a1 Hited

(3) R SrehuTel FIeH

(4) AT TG Ugh

) was introduced in 1995 for i inexpensive and speedy settlement of
bank customer disputes.

(1) Prudent1a1 Norms _
(2) Customer Service Committee |
3 A8 Banking Ombudsman Scheme
y . (4) InternatiOnallAccc)unting Practices

17. @Fﬁaﬁaﬁﬁww |
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ToEy Bl
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mﬁéwﬁmﬁﬁaﬁwﬁﬁmfafmﬁﬁﬁ“ﬁ WW%M%“?

u*ah%ﬁi
(2) s a)mfﬁw

/@/maqaﬂﬁr@ (4) WWB“IB'i

Consider the following statements
After Independence, the Government of India appomted the National Income
a.

Committee in August, 1948.
The committee consisted of Prof. P.C. Mahalanobis, Prof D.R. Gadgil and

Prof V.K.R.V. Rao.
The first report of the ‘National Income Commlttee appeared in 1951 and the

final report in 1954
Which of the statements given above 1s/are incorrect ?

b.

C.

Answer Options: , o .
(1) Onlya ' (2) Onlyaandb
(3) Onlyaandc (4) Onlybandec
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(1) fod =
(2) ézwamss%m
(4) EANEC] L : , ' , ion of

r the promot!

fo
is the apex organisation to provide credit
~ agriculture and allied act1v1t1es in rural areas.

(1) Reserve Bank
(2) - State Bank of India
(3) NABARD
- 4) 'All of the above

vt @i BT
19. é@aa@mzoz;-zzq@agwmmm ’

—) EIFL?ATFIT a1 w
. (2) w9 Eaw 31TF1T T z{rﬁq?é}
3) W
::/)hat is the biégest’sbﬁrce of income for the Central Government ‘in the }Um(
Budget 2021 -22 7 :
(1) GST |
" (2) Borrowmg and other 11ab111t1es

(3) Income Tax

: quporate' Tax . |
- 20 -2011wamﬁ3auagﬁzﬂa;ﬁq;g@%ﬁm‘ - EYE
O TR fead (2 '157sn%f%ﬁ 1528

3) 282#%%& fo 4t ) 38291%{%?[ %tﬁ

: Acc |
ording to the 2011 Census, the densﬂ:y of populatlon 1n the couhfry is
(1) 117 per 5q. km. | |

2) ‘
(3) 282 per s (2) " 157 per sq. km
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Wi of. SUSIE TREET I TEHTICAS a3,
charact o .the fOH.OWing statements is nof correct regarding qualitative
(1) T;rlst.lcs of .h.ldla’s population and urbanisation ?
) ere Ts positive co-relation between per capital income and urbanisation-
(2) There is no co-relation between urbanisation and employment. |
(3) There is increase in standard of living with urbanisation. . -
(4) There is negative relationship between urbanisation and population belo
poverty line. - ' _//
22. WW@WWWWW?WHW‘W@ :
/i e ? . 55" | .
| (1) eI w8 | (2) wirare ST
(3) e oifeRT @ R :
| ~ ' e A W { profit oriented in the India?
Which of the following market segments is growth an proil
o Cofnmercial Banking System? . )W
h (1) Mutual Funds .~ é}‘ | Mobile Ba n.g
: - (?w Internet Banking

@ ompamdd
’W

(3) Retail Banking

. e 9P o fére gfaen

(1) P 37 3ol & 2, e 3 :;Tg_g\

(5w AT ' T ERE TS

. . : .ulture is mainly dependent on two sets of factors. Those

b. Human Resource

cal F actors- ‘
d.  Irrigation Facilities

Technologi

. €. Institutional Factors
Answer Options

1V " Onlya and ¢ 5 | 2 Onlyaandd

) (4) Onlycandd

(3 OnlyaandP |
PT.O.
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e I S |

(1) e T (2) ath wd .

(3) had 31 IATOT & (4) TRFIAMS .o and Budget

Which of the following is/are the objectives of Fiscal Responsib!

Management Act, 2003 ? 3 Logramme:

a. To set limits on government borrowings under a time-bout tsp A nic
_b. To achieve zero revenue deficit and bring down fiscal deﬁclt 128 macroecon?

To make the government responsible for ensuring lon

stability. : o Q gt
—d- Improvg.’ng transparency in the fiscal operations of the gove | ,
Answer Options : : R, Ly
(1) None of the above | (2) = All of th;:l ;11:210 ‘
(3 Onlyaandb . @ _‘Only cand d

(1) ey S T e A e,

(2) Fiden ST .

(3) 3fren foskr@
4) . T FAfefe Vv D - ]
gN)hich of the following is not an important objective of Spemgl Economic Zones 1n .
India ? ' ’ : " ' ‘

(1) Generation of additional economic activity

(2) Promotion of export , '

(3~ Development of agriculture

(4) Creation of employment

(1) ey (2) T Al (3) TH Taer ( T foam
. 3 . I 4)
The infant mortality rate is the number of deaths of children under

age in a given geographical area during a given year, per 1000 live births. .

1 0 )
ne year (2)  One month 435 ~ One week (4)  One day
27, T& 3% weam ' ’
Wﬁ%m?wlﬁlﬂm (Sl T&emr 2020-21) g w3 sy RELUSE]
T | |
‘/({c)cor([iingf to ‘Chief (]52:) S- ) N?;)/ V-Wm% (4) »
Survey 2020.21) ey ;;Jnoxguc Advisor Krishnamurthy Syp Z-3TThT
(1) U-shape P ay be the shape of Economic rec};ve:y ;‘amamam (eoriomic

| __S-shape 2
| @WW!SPAQE FOR ROUGH WoRK (3) AiV—shape 4)  Z-shape
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1) 5%d 25;2 , 2020 JHT FTT IS AFH e Poeht zaiTha a2 7
A i (2) 5% 35% (3) 5% 30% (4) 5%7d 20%
: ge of tax rates for taxable income as per thé Union Budget, 2020 of

India ?
1
3) 5% to 25% (2) 5% to 35% 5% to 20%

.29. \:'a EED ﬁmﬁ. farem se 3R 7
/’\a‘ HRATd ﬁgﬁﬁm{ﬁ?ﬁmﬁaﬁawmfﬁmaﬂ%
b MR ;’ﬂg’w R & S el TR R
. VA S foraoe @ e ST .
gieft I |
(1) e @ _A2) wEEAH .
(3) B3N B ' (4) T FomdE TRl
Which of the following statements are correct 7 :
The price of electricity for Indian households is lowest in the world.
tries is highest in the world.

" (3).. 5% to 30% 4)

a.
— b.  The price of electricity for Indian indus
¢ Cost recovery in distribution of power is satisfactory in India.
Arllswer Options: ’ ' :
G ~ Only a and b P~ (2) Onmlybandg
@}, ' (3) Onlyaandc = - ' (4) None of the above ‘ ,
30.  w@reher. fagm fe=mra =4 R '
5. ST SR g SH-eudd T wm{mﬁnﬁam sqreTea IrEdl
a. Wﬁa@ﬂﬁaﬁaﬁmﬁﬁwaﬁmmﬁmmmmﬂ
%, m@amﬂam@mﬂaﬁﬁﬁzq@?ﬁﬁmw
mﬁéﬂﬁwﬁwﬁsﬁaﬁvﬁﬁmfﬁwﬁaﬁwaﬁmﬁﬁ?
1) aawE S (@ wERkH v
(3) o : o C(4) e ¥ 0 S
.Conéider the following statements : | |
" a. International trade is based on differences in prices of goods and services from
country to country. o ' '
b. .The‘ terms of trade refer to the exchange ratio of export and import goods or

their price ratio. ‘ : |
of Payments record in International Trade is maintained in a

c. . The Balance
standard double entry book-keeping method.
given above is/are correct ?

Which of the statements
Answer Options: .

1) Allof the aboy€’ . (2) nlya

(3) Onlyc (4) Onlyaandb

' P.T.O.
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(1) 3o =g | (2) Eﬁerrfa e

@ FEH=H (@) TN

A_neutron having energy of 0-025 eV is a/an .

(1) Thermal netitron’ ' (2) Epithermal neutro?

(3) Fast neutron : (4) Slow neutron

(1) o 3R ‘ | - R

(2) T I TIHIA T I AR

(3) T T HT A A T IR

(4) @Tdh! AR : - i,
Transfer of heat from a body at lpw temperature to a body at'h jller temp

\ture is

(1) : 1mp0581b1e : »

(2) possible by keeping both the bod1es in contact
@ possible by doing some external work '

(4) None of the above

(1) srEvigma Iy i
(@) S T Sffad e
3) et A Sy wAE
(4) Theh @ . W
The minimum audible frequency of sound means
(1) threshold intensity of audibility |
(2) lower pitch limit of audibility
(8) upper pitch limit of audibility
(4) None of the above

(1) e THiw | it (2): WW&E

Diamond is a
(1) Metallic C‘rystal :
(3) Ionic Crystal -

el mﬂﬁﬂm /SPACE FOR ROUGH WORK

- (2) Covalent Crystal
,\@) Molecular Crystal
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SRR (4) wwn Wgﬁrﬁwwmmends their use

fl‘he_hlgh Strength-to—weight ratio of alloy mainly reco
In aircraft and automobile industries.

(1) light steel (2) light titanium

) (3) light copper . (4) light alumw
36. WA AW qarARe o AR srRe e s gt T
(1) %o 3MET Infy offe N
(2) % Afcggse T fre |
(®) e, R, Wi TR \
(4)  3WEH, HAfeseres, frew, wifraete T L earbon
In lower atmosphere, smog is formed by the reaction betW;en pgilNﬂEEﬁts.
_ nitrogen oxide. This interaction produces _ as seconl B '
(1) . only ozone and aldehydes =
(2) only aldehydes and ketones

(3) only aldehydes, ketones, petoXyacyl nitrate & | |
: Oane; aldehydes, ketones, peroxyacyl n%trate //i_—’e——

IS

(4)

5w e Sl e St S A

37.

(3)

‘AmOeba is a protozoan animal because o
a  itis a cellular animal Without tissues and organs. -
b. it is the simplest and most primitive of all animals.
pseudopodia is present for locomotion.

e

itisa pore-bearing animal.

d. | |
ich of the statement/s given above is/are correct ?

Wh
(1) Onlya i (2). Onlyaandec

(3) Onlya,bandd @ Onlycandd

—_—

\____——"’_- = -
PeegT rrret 9t / SPACE FOR ROUGH WORK o
: - . A ‘ ' - ) N P'TIOI
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TORAI oy ety

B WA i g

S RS e

(8) e 31 3ty % aaaﬂﬁ ﬁﬁf ‘

' ' S scientific
' ' e and their

Choose the correct pair/pairs of the aunnlal/""mm als s

‘name/names ? . ;

a. Asiatic liOﬁ _ . — Panthera leo perSica.

- b.  Royal Bengal Tiger — Panthera tigr is
" Indian Rhinoceros — Rhinoceros unzcornzs o
d. Thamin Deer — Cervus eld:
- Answer Ontions : | T . » et
(1) Onlybandc ' e : (2) OD_I.Y candd »
(3) Ohly aandc - (4) Allof the aboye i
_ - \

39. @relicidh! Hivien it TEH/AYEH! S9Hd SR SfiaeTen Srawd el

¥, WYL gioft , q. IR gmoft

% @e ol g. et (Izum goft)

(1) % & A0S (2 wEFAMNE

(3) e 3 4) P d

Which of the followmg animal group/groups was/were the fi L
rs
adapted to life on land ? t Vertebrate to become

a. Reptilians b Amphibians

c. Mamma.ls - N d. Aveg

Answer Options : ' ‘ :

(1) Onlycandd (92 O ;

5 Oilrs o ‘Onlyb and g
| - @) Onlyp

l s SIS ST | SPACE FOR RouGH WORK -
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40. IS Aghits i
(3) w1 g . (2).. Hom 9 g
Who disco | 4) . @
ey vered the natyyg) classification system of plants ?
eophrastus (2) Bentham and Hooker

(3) Carl Linnaeys ‘ (4) GM SV

1. . memﬂammwﬁ%m ?

(1) 9wy TrHtof} éa?aqm L @) ST o

(8) YR i R @ TN BT ?

Which of the followmg is the causal orgamsm -of Wheat Rust disease : |
(2) Xanthomonas citri
(4) Plasmopora vttzcola |

) Puccinia graminis tritici
(3-) Puccinia purpurea

e ﬁ?ﬁﬂﬁwﬁaw@mﬁ%ﬁﬁwwﬁm7 -\ Y%
?’ ) ww . (@ Rw @ =7

: In Agriculture, groundwater is tapped by
7 (1) canals @ smkmg wells  (3) ponds-

4 1) LDL?%?W : A @ VLDL@@@WI

; : DL
HIARUAT 4) H s e
B e VLDL idered as good cholesterol ?

h lesterol is consi
Whlc}]?:]?)f]"_:c}clzfuflfiz:;ﬁg - j62) 2 VLDL cholesteri)l
g; LDL and VLDL cholesterol @) HDL cholestero

‘ s 21, %r—antqgaaaﬁ@% mﬁmw(aznm
44, - WM(W>WW

() myE AT
(). mE AT e e
i (3) i HHYHE , i e
s;gﬂ'ﬂ Wﬁa T{gﬁ'a' ﬁﬁfg\?ﬂi[ _ ) . ,
Kidney tubular reabsorption fails, copious unnatlon follows. What is this
metabolic disorder) called ? |

When

disease (
(1) Diabetes mellitus

(2) Diabetes insipidus
(3) Juvenile onset diabetes

on-insulin depgndent diabetes mellitus

/ SPACE FOR ROUGH WORK. -
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) TR g foeh s 2

(2) wfw

(3) ww

Which of the following vaccine is administered by oral route *
(1)  Bacillus Calmette-Guerin |

(2)~ Sabin
T rSalk

(4) Mumps, Measles, Rubella

Wﬁw,mm
46, - T WA R GUHIEN A s, W S TR e oy qEr -
9 T i, o AR 17 F g T T A
- s R g Ad Y Q. (4) 326
" 415 . @ 362 L (8 346 tep that indicated

flowers o1 each Sin palance. If the

FY le. put .
- A devotee, while going to pray 1n )Fhe temple, PY 7 flowers

: he had 1
its number. When he offered 9 flowers to G(?:i_the e votee have 9
templevhad 24 steps, then how many ﬂowers 1 O

| (4 826
| 1) 415 (2)- 362 C o (8) 346 - ; (

e — e gaEdEL AR
7. 2 2, o 7, T30 B P e
g mm%ﬁztﬁﬁﬁmﬁ%ﬁﬁmﬁaﬁm 40%’2'3@ 2
| g:a—ra‘rsaaﬁsséms#ﬁ'35f‘auﬁ.‘mm.mm_. e T |
@ &
@)

etein o o TR ’/l |
Wy R -

Srikant stands facing north on the ground. ‘He turns ﬁght and travels 30 km. Then

he turns left and travels 20 km. Again he turns right and travels 40 km, Again he
turns right and travels 35 km. Which direction is he facing now ?

(1) East
(2) North-East
(3) South-West
(4) South -

o7 ST S | SPACE FOR ROUGH WORK
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(1) THaA . (@ : LR @ F3F
e followed by several options

The following question consists of five statements the option
ether in a specific order. ChoosedraWn i

consisting of three statements put tog Epect - — == :
which indicates a valid argument i.e. thW
the preceding two statements. : '
Statements : | : |

a. Amitis a boy. :
Some boys do not play cricket.

b
¢ No girl plays cricket.
d.  Amit plays cricket.
o.  All those who play cricket are boys.
Answer Options o abd . eda
S 3 A< 7
W 5 .o @B @s @ o Ss'ed in
: _ _ _ . . a

In- class of 100 students, 40 students passed in Ma;her.natlcs and n'p'stu Jents
En al‘sh g students failed in both Mathematics and Enghsh_. How many _

nglish. LN _

assed in both the subjects 7

| 3) 8 (4) 16

2 15

Frd I g

ﬁgﬁ;lnjéﬁ, i
‘ Freal Idid ?
R p oEi @ 29 3) 27 (4) 28 |
_ o - ‘Th o are 8 points in a plane, no three of which are collinear. If lines are drawn by
L:; ﬁ% joix?ing two points, hoW many such lines would be drawn ? o
® o 2 9 29 @3 2 (4) 28
CE FOR ROUGH WORK ' P.T.O.
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61. ﬁmémmﬁmﬁlwﬁmmwmam35 m
Mwmm%mm’mmmmmmﬁﬁa
N e e i g3 e ?

1 100 | w 147
0 2) 13 ffR 3 9fufie .

Niraj’s watch is fast by “51 minutes in a day. Pi)’ush
35 seconds per hour, If their watches indicated the samt | ad of Piyush’s
. 7] C a
morning, then by how many minutes would Neera Wa4

watch that night at 12 o'elock ?

" oy . 9 minutes
(1) 10 minutes  (2) 13 minutes (3 79111 &

52 ﬁéwmwaﬁwéqa@?ﬂﬁwﬁmm?
e, duw, fafeg =t D

| R g
(1) | OO

By which Venn-diagram can the given sets“ of words be shown (R

Teachers, Writers, Married persons.

| af.g§%;> PR (;:23' i, i
®) COQJ | ‘J‘»/ ol o
53. :IIDA;II,Bf:Z,C=3, ..... ,Z=26,m‘gODFATHER’3TWWf%|€m? |
-7-15 _ ' o . |
~6-4-20-12-8-5_18 @ 7-1546-20-8 5 18 1g

3) 7—15‘476‘2‘10—8;5—18 . :

IfA=1,B=9 (=3
) 1M = Dy siens , Z = 26, then hOWWﬂl ) . o ;

(1) 7-156-4 99_; g gg i o youwrite the word ‘GODFATHER’ 7 .

. 7 '

(4)

w@‘)/7—15-4—6—‘1-20—8—5;18 - '

15-4-6-20-8 5_18 13
= BRI Sy I'SPACE FoR ROUGH WORK

-154-6-1-20.8 5 15
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| . 19 nmemﬁ bl abo & T

el :

L gl owfi ara 9.
I 5 ved am e
W‘iﬁ?ﬁﬁ‘:
1) Ia'wmmﬁil%éﬁsg@m,w%.\/
(2) TI& TRom 3T Sl 13 S @ HT .
'(3) Ilawﬁumaqﬁ,viglﬁaﬁwg@rwmﬁ

L 4) aﬁaﬁﬁqar@aﬁaw@ | |

u have to read both carefully
me that the ‘given

In the following Question, events I and II are given. Yo

and decide their nature of relationship: You have to asst
he correct answer:

information in [ and II are true and decide t
‘Events: .
I . Mr. Hariwaskilled in a fire.
I A fire broke out in the company-
and Il is its principal cause.
and I is its principal cause. .
‘but I is not its principal cause.

Answer Options
(1) Iisthe effect
(2) Ilisthe effect
(3) Tlis the effect,

(4) None of the above is correct.

55, @EE dEAET el FET W
343, 324, 3375, 10648, 64

(1) 64 (2) 3375

(3) 824 - i (4) 10648
‘Find the odd man out from the féllowing numbers :
343, 324, 3375, 10648, 64 |

(1 64, (2) 3375

@ 824 - @) 10648

— 1 AT ST / SPACE FOR ROUGH WORK P
' J ' ‘ T.0.
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56. . I TEw 60 f.f, FTNR ufker 20 fif.fy, 3R arel 10%,?5 fo. Al g T, W
20 Fafl. ST 12 Rafl, 33 9 ofedrd 20 Pl SR 10 5o p 2o gy,
gy ORI 60 Bl siwrem sareri v an e 7 7
—l‘;—; (1) amft 12 %Jﬂ. WX 08 (2) ansft 13 qu”-rﬁ'
(3) amh 14 f5a, @ 11 R . speed of 10k
o ,a km/h
M%_ &-%_ Niraj covered the first 20 km distance, out of a total qf 602 lo(mkm distance at 15 r,
the next 20 km distance at 12 kmyhr and the remainin8 ? 82 4
What i Kmdmtance =Dk P2
& at is the average speed of Niraj to cover the 6 | 2 o
4 . J Lem/hr h ¥

d
3) 14 kmh (@ 1kwhr
4) . _—
2\ )5 r 2t _ ( = ”zﬁaﬁmm

r%sﬁﬂa@m@wm%maﬁwwﬁm . f—‘?>i3

w s %ﬁmmﬁmgﬁw@mﬁfﬁmw? | . 4) 35
o o 45 @ 4 @ P days Howmany daysvould
s Neha can do a work in 6 days and Rekha can: do it 1n ;81_ ,;a d : . ‘? J
b it take them to do the same work if they worked & ¢ 4) 35 s

\Zo .. | 1) 45 @ 4 | - (3) 5' 4 .‘ .

g — 1,800 7 € 1,890 IR, T 1 T

-~ 58. waﬁ%aﬁqaﬁ%.wmawmﬂw? N
(4) 15

P ganad. fedt o o Saeh Bk ? - |
o 1) 10 @ 9 ' @ QW 1.800
9;';\0 : The simple interest and compound interest for 2 years of a sum })S T 1, and
5 T 1,890 respectively. What is the rate of interest per cent per ann;lmi-5 ’

AW 1) 10 . 2 9 3. 12 . (4
RS 5 | | .
59.  @ieliciieh! Hivmr Tt g 3ated A i oe ? ' @ G ;9
_- 6B 913, 1117 - AL 1/17, 9/13
(3) 9/13, 11/17,5/8 o Q179858 2
Which of the following is in descending'order ? g : '
(1) 58,918,117 @ 817,913
(3) 913, 1117, 5/8 @ 117,913, 578
60. T S Y7 35% 3 HHl HeATe = wamwreh mey T '
I QIR 5 o 40%%316@.3?9‘&[%@@

() THFRIA (@) pamm (g
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61. Wﬁ%ﬁ@ﬁﬁwm(NCRD lﬁ _ mwm
A 2018 T whRam 109 )mm UERIE] '
9. 2018 WY 3 39827 we digEew Ao,
®. 2018 A4 FfTHR FemeEAT 21401 TN HEAT.
B.  TCThIeR SR Faifi 2832 HeAT HENIg wecd (2018).
STl Hivr e s omd ?
(1) SFE 3, d T =%
(3) hdd H, & 3:|Tfﬁ'|‘ S

According to the report v of the Nationa
information related to Child Crime is as follows :
1y abused every d»ay.

a. In the year 2018, 109 children were sexud
2018.

of girls. ' o
aﬁli‘engolccurred in Maharashtra (201 )

(2) wFd 9, % M

4) FawE ]
] Crime Registration Department, the

~b. 39827 such incidents were reported in
c. - In 2018, there were 21401 incidents ofr 2
d:  The highest 2832 incidents of rape on chi
Which of the above statements are correct 7 . » 3 o

(1) Onlya,bandc ' ' (2) Onlyb,c¢ b
(4 Al of the above

(3). Onlya, cand d

62.

(3) U FEUT ﬁ‘f.?l:i Eld%‘? . W N
. | . ith "~ and now it 18
gl been merged with _————
| Eﬁfﬁ: o National AIDS Control Organisation (NACO)-
(1) Family Planning Association of India
/t2) Department of Health and Family Welfare
3 N ational Lepi'osy Eradication Programme

(4) ~National TB Control Programme i : ) _
W,maﬁm,mmmmmm

> g:r@’mgmaﬁﬁamsémﬁw?qﬂa’muaﬁmﬁmﬁﬂémmaﬂ%?
(1) TR (2) SWNW
(4) ToE®

éducational as well as private institutions may

The schools, colleges, universities,
aim in view, which is the first State in India

witness historical places. Keeping this
that decided to set up ‘Jail Tourism’ ?

(1) Rajasthan (2) Uttar Pradesh
(3) Maharashtra : , (4) Bihar
o] FTAETS ST / SPACE FOR ROUGH WORK TP WG » PTO

Scanned with CamScanner




WWWw.byjusexamprep.com

U4

O EASEE
24 i
Hlen wwmta vy e 4 @ o
A, e e w2 iR s g,
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%, SEO SR e e el e el e g @ S
5. T em s T A4 s, '

T I A FTT IR/AR ?

(1) e 3 37T & (2) & @

(3) e, % o g W) e A A
Following is the work of Dinabandhu Sahu, honoured by NIRIL:

a. A book of Farming the Ocean’ on sea algae.

b. Production of short film ‘Biodiversity of Life’ based

: n
c.. Fellowship and Research in International Society for
Sustainability.

64.

om-
on Mary KE nvironment and

d. Sea farm training based on Project Chilika.
Which of the above sentences is/are incorrect?

ly b
(1) Onlyaandc Ei; I?Izn}; of the above
(3) Onlya,c and d

65. vty 30 < e o 3 T
5. a5 — 3357 kg |
£ ﬁwq@q,mawﬂﬁmm
% 12, 19 37 o3 RS A TS
2 ﬁgﬂﬁ%ﬂwm

(1) % 3 A E

T
3) & 3, A0S (4) aﬁr«ﬁaﬁ‘:
Which of the following are characteristics of GSAT-30

Weight -~ 3357 k8 RN i
z. Profides high quality Television, Telecommunication and Broadcast services

c. Equipped with 12C, 12Ku. Band Tr:elnsponder
4. High quality communication satellite

Answer Options:

(1) Onlya and ¢ (2) Onlybandd
(3) Onlya,candd (4) Al of the above

oz GraTara! o / SPACE FOR ROUGH WORK
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66.  HNTCH s ferfgy WTeherh) : ‘ B
fresTer s o TN w2021 =1 ‘gud) @ifEed dEEH D
1) w=se
3) 2) fguwr :
(4) . eRUHiTaT q@ -~ :
1 3 ‘Ma rathi
S‘i‘;}llll'cth Oil:h;! following novels written by Sonali Navangul has won the
1tya Akademi Award’ in 2021 ?
(1) Swachhand (2) Dream Runner .
(3) Prakashvata (4) Madhyaratrinantar che
L o g T
67. STV AN JEEhR R (2019) frsf Fasi arar FATTH
. Wmm(w)mmﬁaﬁaﬂﬁﬁm’mﬁw“m '
¥, Sroeie orsfwre @ AU dEH.
F. SPIGH TR [HeB[l.
8. ARr3h HiaI, FICTRTT o ST S
gaidt IW :
1 %987 ' s T
(3) e !q;,’ a: 37 (4) '&"‘;&:;131’ thaner_jee’S life journey till
N o for Economics (2019), jee ey
Winner of the Nobel Prize 6 d choose the correct optl v
‘o o . boints below. Reorder them an 5 (NYAY) for
o l(ioi:illl):tleﬁ in preparation of Scheme Nyuntam Aay Yojana
4 poverty eradication in India. o
b Written a book titled ‘Poor Economics.
Received the Infosys Prize.
;. Studied economics at Presidency College, Kolkata.
wer Options :
g?s“)d’a (2) d,bac
(3) d’ c,b,a 4) ¢ b,ad
68. 2021 "8 frstie ded areh @reficrish! HIvren FEpRETE! araedre] fHas et ?
(1) e s (2) aE W AT T $3W
(3) deE Hihl TS 3ATH g 33W 4) o R
pionel Messi was selected for which of the following awards in 2021 for the seventh
(1)  European Golden Sh
(3) World Soccer Plg O:: (2)  World Player of the Year
yer of the Year (4) Ballon d’Or
G| A
PHTWTS! ST / SPACE FOR ROUGH WORK :
PTO
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9. Vol FiEE e gid

%, W Toett fifty = g

v Tueme aswme, Ao, s fogg

qaiHt IW

(1) Sod 3 a1fr & ' 2) e 0 ©

wad A
(83) W ¥ (4) honoured yith the peacetime
who was

On the eve of 75! Independence day,
Gallantry Award — ‘Ashoka Chakra’?

a. ASI Babu Ram

_b—Police Constable Altaf Hussain
handra Murmu

& Lt. Governor Girish C b
d.  Governor of Mizoram, P.S. Shreedharan Pillai
Answer Options : v ;

A1) Onlyaandb @2 Slyc and

: (4) Onlya

~(3) Only b_’///—

70,  @rele fauT TE A ey
, %%mﬁﬁwﬁﬁ“m :
3 Wm%wmwmﬁmmaﬁwm*”f““ﬁm

IR
aﬁaﬁﬁﬁvﬁﬁmﬁuﬁﬁmaﬁmﬂ%ﬁ?
2) wHE

(1) od A
(3) 31 i & el (4) T BIUdE! AT

Consider the following statements :
Kiwi is India’s first certified organic fruit.

Arunachal Pradesh ‘is. the first State in the country to obtain an organic
certification for its Kiwis.

Which of the statements given above is/are correct ?

(1) Gy (2) Onlyb

(3) Bothaandb (4)  None of the above

. aoea STTE ST / SPACE FOR ROUGH WORK

.

a.

b.
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TR STV 3ATel} B (W) (PMAY-U) aierfa 18 s, 2021 wha
(1) 681 @mg
(2) 1288 @@
s R 4) 1092 7@

Under Pradhan Mantri Awas Yojana (Urban) (PMAY-U), as on 18th January, 2021
houses have been sanctioned.

(1) 681 Lakhs (2) 1288 Lakhs
e O IS (4) 109-2 Lakhs

72.  3TaH! FqEd, wmmmmwwmmmwmm
ST foegeh A HIvre Tt gfaE HSE ?

(1) 2015 (2) 2016 . (3) 2017 (4)- 2018

In which year did Avani Chaturvedi, Bhawana Kanth ax'ld _Mohar}a Singh f;:r}eizi
history by becoming the first women pilots to be commissioned into the fig
stream of Indian Air Force ?
(1) 2015 (2) 2016 L (8) 2017 (4) 2018

73 aﬁwmaﬁwﬁaa‘smwh s@aﬁﬁmﬁﬁmﬁm‘qﬂ-mm =1 YR el ?
(1) & | (2) 3 (I a.3.)
@ HEi. (@ _ |
Which Space agency has launched the first all-electric experimental aircraft X-57
Maxwell ? |
(1 LAPAN (2) ISRO
(3) CNES (4) NASA

74, cficgue.- H.48 (PSLV — C48) 1 J&iqehr=al HIEAHT yrargR 11 fedsr, 2019 U
" Tl i S IHE FEpr HrewaTa 3ATel ?
(2) EMISAT

(1) RISAT - 2BR1
(4) GSAT-31

3) CARTOSAT - 2B
Which artificial satellite was launched by India on 11th December, 2019 through

PSLV - (48 launcher ?

1) RISAT - 2BR1 (2) EMISAT
(37 CARTOSAT-2B | (4) GSAT-31
W S / SPACE FOR ROUGH WORK P TO
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75.

. Wfﬁfﬂ»{r
9351 siftaet Wil WU wfier wier srener N afafors A faemEd wE

o, GRS — 7 O G W e w et T
a3 gAY 1550 wd fawdt afec wierm sreges,

®.  hifor wiRuE fea.
S, ‘gaml @ I §ed |96,
qatdt I :

1) a%,g,awﬁraq
A
(2) B, H, FAAME

B Fasafrs
(4) B, 3, 9O H

Select the right option regarding the Chairperson of 93rd Akhil Bhartiya Mar.at}n
Sahitya Sammelan, Senior Literary Author and Thinker, Father Francis Dibrito’s
life happenings till date.

a.  National Award for translation of ‘Subodh Bible — Nava Karar’ book by Sahitya
Academy.

b.  Chairperson of 15') Marathi Christi Sahitya Sammelan in Pune.

¢.  The ordination as a Catholic priest.

d.  Chief Editor of newsletter ‘Suvarta’ -

Answer Options :
(1) ¢,d,banda

(2) d,ca and b

(3) C, b; a and d

Scanned with CamScanner



www.bviusexam rep.com ’
prep mBYJUS
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A W™ '
: (W@Wﬁg@mmmmm)awwﬁw
az(ﬁ“qlmlﬂé qa%ﬁaamn?ﬁqmw?ﬁaﬁmmmwwm
a.:léqlmﬁ;a Wﬁagj%i .Hmﬂ% Froe W @ faa wrearen foiw g dm

H. UMW YRS RGeS G2 gad 3 g gl ]
SR I fmA e sR/ema 2

(1) A (2) BFFAAMIF (3) TAHAFAME (4) A, AAF
Consider the following statements : '
a. The post of the Sarpanch (who is elected by the members of Gram Panchayat)
or _Upa Sarpanch, as the case may be, that has fallen vacant (due to
. resignation) shall be filled in within thirty days from the date of such vacancy.
b. The post of the directly elected Sarpanch that has fallen vacant shall be filled
within three months from the date of such vacancy.

c. A member of a Gram Panchayat whose post has become vacant due to absence
for continuous meetings of the Gram Panchayat shall not be eligible for

re-election.

Which of the statements given above is/are correct ?
(1) Onlya (2) Onlyaandc (3) Onlybandc (4) a,b and c

.

77. HEWE UMW GEEA

e g1 o T, et |
aﬁaﬁﬁ@mﬁﬁmﬁzﬁmm%ﬁ? g
- , % MM (2) W ¥, h
s (4) o &

(3) WA A, o, F M0 ‘ .
Consider the following statements about the provisions of the Village Development

‘+tees of Maharashtra Gram Panchayat Act :
COnm';‘lhe total number of members in a Village Development Committee shall not be.

]less than seven and not more than seventeen. :
b. Not less than one-third of its members shall be from amongst the members o
' the Gram Panchayat.
c Not less than one-half of the members shall be women.
d-, The Deputy Sarpanch shall be its ex-officio chairman.
e. Gram Sevak shall be its ex-officio member-secretary.
Which of the statements given above are correct ?

a.

(1) Onlya b,candd (2) Onlyb,cande
(3) Only 3, b, cand e (4) All of the above
e
PTO.

oo SIS} ST / SPACE FOR ROUGH WORK
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78. WA AT ) sigee d,
(1) TSI 92 @&

(2) 3R yrely da1 @ e
(3) IMER-USY wftwg T el
(4) U vehe) 78

The ‘Sarkaria Commission’ favoured

(1) abolition of the office of the Governor
(2) abolition of All India Services

(3) abolition of Inter-State Council
(4—None of the above

79. TSI WETREcAEs @relerih B e st e ?
) ﬁmﬁmwmmm@m
(9) =™ Ay T fftmeegr fiftm . - 2l
83) ﬁmmmﬁwwéw_@mmwﬂqm@wwmﬁ '
“(4) O TR T H
Which one of the following statements is corr

State ? . 3
(1) He shall hold office during the pleasure of the State Council of Ministers.

(2) His remuneration is determined by the State Legislature. :

(3) He may appear as an advocate in cases against the State Government for a
private party.

(4) None of the above

80. 39 (¥): HadE Tgdmel sl HRCHSST R steaefiy ggdivan e s,
FR () : WA HECHSSTE (A & TR e HEwT RISy IR,
(1) ‘& anfor G Zeigl s onfor 9 2 ‘o7 9 I WEe IR,
(2) ‘& i T A SR, wiq T R ‘o = Ay e 7
~3) ‘%’ 2 TR A6, WY T 7 T 3.
(4) ‘o B ghH I8, W ‘T @ T 3778,

Assertion (A) —Tegislative control over administration in a Parliamentary system is
different from that of Presidential system.

eason (B):  An important feature Of..,,demogrf_zit}c govemx'iﬁs the legislative

e

‘ control over administration. e 70 ¢
(1) Both ‘A’ and ‘B’ are true and ‘B’ is the correct explanation of ‘A’.

(2) Both ‘A’ and ‘B’ are true. but ‘B’ ;

iAo ) UtBlSnotthec . CA?
(3) ‘A’is true, but ‘B’ js false. rrect Spiasation of A
(4) ‘Ais false’ but ‘B’

ect about the Advocate General of the

18 true.
WW ST / SPACE FOR ROUGH WORK
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(S, A e ek o) e g e,

-8, d TSt Rt fram qrear Aq @,

&, E@ﬁmaﬁﬁmmﬁmmmmmmmﬁmm

3.

3. Wﬁmﬁmﬁﬁmwﬁaﬁmmmﬁwm&m
TR H Yo% Sield, A

-ﬂ'ﬂ‘hﬁﬁﬁ:

(1) Wad A o () wEd d

(3) A o, I | (4) T 3, F A0S

- Which of the following statements related to ‘Money Bill is/are correct ?

a. It can be introduced either by a minister or by a private member.

b. It cannot be introduced except on the recommendation of the Governor.

c. If any question arises whether the bill is a money bill or not, the decision of the
Governor is final. .

d.  In case of 2 deadlock over a money bill, the Governor can summon a joint
sitting of Legislative Assembly and Legislative Council.

Answer Options: :

(1) Onlyaandb ' (2) Onlyb

(3) Onlya,b and ¢ (4) Onlya,cand d

/’f

WW‘WW@WWWWWMﬂQ
ﬂ@ﬁ/ﬁWWWa{.

1) S e T W HE T

(@) @mﬁﬁﬁwwwﬁ@waﬂ—ﬁmmmmﬁmw

3) Wﬁﬁﬁw@mma@wa@nﬂﬁ

o mewmﬁ—ﬁﬁ%m@mﬁﬁma@aﬁ

The Parliament of India acquires the power to legislate on any subject in the State
List in national interest if a resolution to that effect is passed by the

82.

(1) Lok Sabha by a majority of its total membership.
(2) Lok Sabha by a majority of not less than two-thirds of its total membership.
(3) Rajya Sabha by a majority of its total membership.

(4) Rajya Sabha by a majority of not 1 . :
s y ot less than two-thirds of its members present

ZeoaT HETETA! ST / SPACE FOR ROUGH WORK
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83.  wewigredl Gewld wrefter fawum fermmrd e
o frea qRwee dow Sem amav s doa @ g T
Yoo aTEd U WiRTE A S . B .
. gﬁwﬂqﬁqﬁma@-@mﬁWMW@ﬁmmﬁ@WWm
NETIGH .
= maa@%aww-mmmmww@gﬁwmm
s W&WW&WWH@WWWW
s g
e S e ste TRd ?
() e, T AW
(3) W & AT b 4 e

nts with reference to Maharashtra :
necessary, put one M
meeting.

] meeting on the writte

(2) Wa,ﬁmg

Consider the following stateme onth shall no

Zilla Parishad niay meet as often as may Pe
intervene its last meeting and the date of it next

b. The President of Zilla Parishad shall call a specia
request of not less than one-fifth members.

Every meeting shall be presided over by the

Vice President shall preside over it
d. In the absence of President and Vice President,‘,the meeting shall be preside

over by the Chairman of subject committee.

' Which of the above statements are correct ?

a.

President, or if he is absent, th

(1) Onlya,bandc (2) Onlyb,candd
(3) Onlybandc (4) All of the above -
84. mmm,m.ﬁmm@g@wﬁmaﬁ e T

(1) 3R 73 FEEtem=m

(2) TSI S gq% Tt Jrmefiem=n
(3) e el §0% T =ATATehaTn

Y T S s e A

> g

(1) nine other Judges
(2)

(3)
(4)

such other Jud
ges as may be determ;
rmined by the Gov
ernor

such Other Jud
g€ as may be determi
ermined by the Parlj
lament

ermined by the President

such other J udges ag may be det
PN SIS TR / SPACE FOR Re i
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(1) e sfl.3m. srivew (2) aTcerTdl Foran
_B) T Wig yere (4) i %.om. g
} - i t
The Constituent Assembly appointed a number of committees t0 dealf“;l;: gﬁ‘;’:g 7
tasks and works of Constitution-making. Who was the Chairman 0
Procedure Committee ? ' .
(1) Dr. B.R. Ambedkar (2) Alladi Krishnasv'vaml Ayyar
(3) Dr. Rajendra Prasad (4) Dr. KM. Munshi
N T R
86, N Sire=n @
A ' g '
¥, STBATE SATHT ol B TR i
¥, e gk e il - AR qﬁéf
5. wETeA s B & o
=z mERdSFEFE [V, 3 STase
gt I :
o a & 5
v 1
(2) I II1 IV/
o) ;v :
(4) I II A
Match the pairs : B
A' bhekar I.  Establishment of Widow Home |
a. Balshastl'l.‘;) an:hmukh : II. First supporter of female education
e :
b. ;oaialtH:r:Iyotiba <O III. Congregation for remarriage
atm
fi. Maharshi Dhondo Keshav Karve IV. Orphanage
Answer Options :
a b £ ol
1 m IV I !
I 11 B E
II II I v
m I i g
T / SPACE FOR ROUGH WORK PTO.
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1932 areft vy Iesrebrt afgelt famm suft gs deft
3. 3femq dyHe varEd
§. e UaEY for.

%. RIS verEw
8. 3Me¥A grg-shifeA=ee UsTas foi.

qoid ﬁi’ :
(1) R 3 0T (2) e % M3
i (4) ad A F
The first Aviation Company that was started in 1932 by an Indian IQdUSt”all %
a. Indian National Airways

b. Tata Airways Ltd.
Imperial Airways

t was .

c.
d. Indian Trans-Continental Airways Ltd.
Answer Options :
(1) Onlyaandb (2) Onlycandd
& Only b (4) Onlya
g8, ‘S @ A S SRt 7 e I ewie ST ST RS, SR St &1 AT
At @t A fieum ATE.” o/ A wd Bid
H. . HSHH M. ‘ _
§. = e
. AT dor
8. . JAHIH qIgl qEeH
It I ; ‘
(1) ad 3 M (2) % o o W
T (4) W

“For realistic progress of the nation ' igi .

’ﬁx'g as-re'aligious awareness is happex’liizg:iﬁls ii:’:nri;gl;gzcsgsmd b? g QUt- £
i8S opinion was of °FSS 1S not achieved.”

a.  Dr. Bhandarkar G.G.

b.  Justice Ranade

c. . Justice Telang

d Dr

Answe:- g;lziil:;n: Pandurang Turkhadkar

(1) Only a ang 4 o
Only a ang 5

(3) Onlyd ,
Poegy (4) Only 4
PIHTHTS ST  SPACE FoR ROUGH Wk y
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i TN T RN i1 are wieht 7
(4) FHIHE

Narayan M :
. eghaji L
oL 0wl newspapers l;hande presented the questions of workers in which of the

(1
(35 giga;haghChandﬁka (2) Prabhak
~7 andhu é ar
90. Wil == @y - (4) Dnyanprakash
9. ITIWE; (T;@s e I ‘Eﬁ-gm g’(ﬂT’ 7Y
% TREE AR S O Rl
- ﬁz’ré- ST B YIRGT Ged <t T
: sﬁﬁ' ”aa:' IV. ‘l%qésﬁamama’eﬁww
(1) 1II I1I v I
2) I IV I I
o (Y L IV e I
4) IV Il III I

Match the following : : ;
I ‘Stree-Purush Tulana’ Book

Pandita Ramabai
Establishment of Nirashrit Seva Sadan

Sadan

a.
b. Ramabai Ranade .
c. Tarabai Shinde III. Establishment of Sharada :
d. Janakka Shinde IV. Establishment of ‘Hindu Ladies Social Club
Answer Options
a. b c d
(1) I juil v I
(2), 14 v 111 11
8) III v I II ;
4) IV 11 III I
91. 34 1849 7ed 4 ﬁwmmmmﬁmmmm ?
. ¥, @i e
%, o seH g Higen A
et i R/ TR 3AT/3ATeT ?
(1) Wad A Frfor & (% R i &
e i (4) I 3, A S
fl‘())?lf)ivnilf;?:fifxg}ﬁ was established at Mumbai in 1849 and gave the emphasis on the
a. Widow Remarriage BN X 3 ]
c.  Break the Caste Barrier d Ac((’:?etf;slcEdlfl_cI%tlon .
Which of the statements given above is/are correct ? ptance of Idol Worship
(1) Onlyaandb (2) Onl Wi
(3) Onlyc 4) O ybandc
nly a, c and d
' 2 o < ]

‘wﬁy ST / SPACE FOR ROUGH WORK
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a. e i | I w0 e g o e G e
%. o9t aifga I11. WWWWW
3. A ANYAUE IV. WQWWW“@
it I
A ) ® T
1) IV II IT T g
(2) I IV I II
3 I e PR ae il
(4) IV I i 111

Match the following regarding and emergence of Indian workers and Labour

movement : ‘
a. Narayan Meghaji ‘1. First President of All India Trade Union
Lokhande ; Congress
b. Mahatma Gandhi II. Establishment of Madras Labour Union
¢....BR Wadia . ITII. Establishment of Ahmedabad Textile
Labour Association
d. Lala Lajpat Rai IV.  Placed the problems of labour through

Deenbandhu newspaper

Answer Options :

a b c d
(1) IV T 5T I
@) I g I I
3) I i v 111
4) IV I II I

Foed] PITAIS! ST / SPACE FOR ROUGH WORK ——
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e GTAINIA! ST / SPACE FOR ROUGH WORK

:' mammmm.

mumﬂmwmmmwmwmﬁ
:c:.- Bﬁaa:nnﬁhm%‘ o " |
i s+ W.mmmmaﬁwﬁ%&smm.

H q T @

(1) TG - WW%mﬁmmmmWWW/

(2) =TIl TS ' :
(3) CiEEre M WY =G & R GRIESS IEE)
‘ . AT A
ER e
(4) = T Frerfedae! S e wwEE
T ER e
Who made the following thoughts/statements re

Indians ?
2. Indian economy ran overseas.
b. Due to economic abstraction,

garding the effects of colonialism on

ame poverty

world known enriched India bec

stricken. ,
c. An exploitation of Indian economy is like Ransom.
. By taking sword in hand it is time to manage our business.
Answer Options 28
a b c d
(1) Ramesh Chandra  Justice 7 Sir George Lokhitwadi Gopal
Dutt Ranade Oxenden Hari Deshm
(2) Justice Ranade Sir George Ramesh Lokhitwadi Gopal
Oxenden Chandra Dutt Hari Deshmukh
Ramesh Justice Ranade Sir George Oxenden

(3) Lokhitwadi Gopal
Hari Deshmukh Chandra Dutt
(4) Justice Ranade Lokhitwadi Sir George
Gopal Hari Oxenden

Ramesh Chandra
Dutt

‘ aﬁzw@ﬁ,ﬁgﬁmmﬁﬁaﬁm,m
méwmmeﬁaﬂﬁ?ﬁmwhﬁm.

94.

m’-ﬂg W Al DR ~Son
ST O S ferepr wETeRT fATET 1.
(1) e 3ced (2) WRE =
3) aget 3 (4) e S
‘What was being drained out was

According to Dadabhai Naoroji,
 that could generate more economic development if invested in India.’ Fill

in the blanks with the given right option.
(1) Handicraft production
(3) Entire cotton production

(2) Indian currency
447 Potential surplus

P.T.0.
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$. d, Al -
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(1) e 31 3701 &) 2) Wa,aﬁmg

(3) ad §, SN B ) FeEd s aATed . lization of

Which of the following crops production increased due to commere!

agriculture during British Period ?

a. Tea, Wheat | b. Sugarcané Cotton

c.  Jute, Indigo d. Tobacco, Opiu

Which of the statements given above are correct ? '

(1) Onlyaandb ) Oplya ce0d®

(3) Onlyb,candd W
96. mmﬁhmﬁmwmm? - 5

g ¥l

\/(‘17’ W-Q-%a : ' @) gH SEl

ent ?

(3) FELTAE . 1 g7
Which award was given to Pandita Ramabai by thq Brltls}}II'vaernm
1 Kaisar—e—Hind (2) Kaisar-¢- indu 5
(3) Kaisar-e-Lady ~ (4) Indian Super Lady
) y y . ,
97. STl HAEAAl i afeel TAH 101 Bl - .
a1, W TS g, femfEn . oo TG s aﬁﬂ/___ﬁq?:’f
et o /e SR SR/ 7 |
'_ (2) ad % M

(1) & 3 M E
,QW@:

(3) wF |
Who was the first leader of the revolution of native for farmers 7
a. BabaBhand b. Bijania c. KajaraSingh d. Tantya Bhilla

Which of the statements given above is/are correct ?
(1) Onlyaandb (2) Onlycandd

(3) Onlyb (4) Onlyd

98, AT IaTa GEAId WIRAcish! v See el 2

(1) v e e (2) HERIY 3TN Hiesh
(3) iy waw AT A 4) AT s e
The Civil Rebellion began from which of th
| e followin i
g _ g regions ?
(1) Punjab and Sindh (2)  Maharashtra and Karnatak
aka

 (3) Andhra Pradesh and Orissa (@) * Bedni
engal and Bihar
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T TR R e
Www%mﬁa%ﬁé

Tk | & 2
(1) dfsan W e s A FA TTETé T8
(2) TR T e Y e o TS TG
(3) fommH freshe T TR sl w TG 9@
(4) T T ot EEE TR S F

o have done work for emancipation of women :
as placed in the famous Drama : ‘Sharda’.

Identify the following people wh
he condition of women’s education was placed

a. The problem of child marriage w
b. Before the Hunter Commission, t
in numerical data.
c. ‘Shardashram’ was established for widows.
d. ‘Maze Puran’ an autobiography was written.
Answer Options : :
c d

a b :
Ilal Anandibai Karve Ramabai Ranade

(1) Pandita Ramabai Govind Ba

(2) Ramabai Ranade Anandibai Karve Pandita Ramabai Govind Ballal

(3) Vidhyaben Ramabai Ranade Anandibai Karve Govind Ballal
Nilkanth

(4) Govind Ballal

: 1857%%@%@%%%@.@%? : oy =
| ] (W)W@m{sﬁgﬁmﬁmmm

Pandita Ramabali Ramabai Ranade Anandibai Karve |

100
N A ol T
.
q mmmmmwmmﬁm
£ Wmﬁwmmﬁﬁﬂﬁrm%amﬁm
T ﬁmﬁwmam@amﬁmmmm
ﬂﬁﬁ:{:
(1) e 3 A0 H (2) ®FdE, H AMS
<4 HaFd & M

(3) W 3, F IS
statements are true regarding the Revolt of 1857 ?

Which of the following
a. With treacherous attitude Pant Sachiv of Bh ' =
Wit treae o Bapuji Gupte to Britishers. or Chimnaji Raghunath (first)

b. Rani Bakabai of Nagpur Bhosale Dynast
; y supported th
3. g?;n;?slf:;gbooé gﬂhagm tChSh.ztatrapalti Dynasty particip(;;:(;, (1)111t GIl'le‘es\,flolt
. oL ]1 U] e . - z
participated in the Revoﬂ. itarampant and Ramji Shirsal of Sawantwadi also

f\nsw(')er Options :

1) nly a and ¢

(3) Onlya,candd g; gn%y b, cand d
nly ¢c and d
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